CAYLEY — HAMILTON THEOREM

Monday, December 20, 2021 1:25 PM

STATEMENT: — BNen g SAUAnNC Wk vy X S sfies (LS
Orowoek VS EquaBon .

~\ -~ B _ .

A — W et > W X AnaA YW X On-2 A0 St e ¥ 00 =0
Cowley— Yarl\or Yneo<eve yweont yhed-

0 - Ge N x Gpeg T T kG0 =0
¢ -% 7 T N6 =0

pe P

B -6t VA6 =D

1. Verify the Cayley-Hamilton theorem for the matrix A and hence, @9_4;1 and A* where
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2. Find the characteristic equation of the matrix A given below and hence, find the matrix represented by
2 1 1

A8 —5A7 +7A% — 345 + A* — 543 + 842 — 24+ IwhereA=[0 1 0
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4. IfA=|1 0 1[,show thatforeveryintegern>3,A" = A" 2 + A% — I hence, find A>°
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